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Problem in current EEW
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Exp.-Obs. = 2 Warnings

oo L] T
Tohoku

Intensity Error (Exp.-Obs.)= 2 Warnings

=
multiple events others

The current EEW system can’t correctly estimate
multiple simultaneous events.

http://www.jma.go.jp/jma/press/1104/28b/eew_hyouka_2.pdf
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Possible Solutions

1. Deterministic
— Group “activated” sensors

into “clusters” by locality and

proceed to the usual
estimation problem within
each cluster separately.

— Problem: hard to identify
activate “clusters” in real-
time

2. Probabilistic

— Exploit temporal and spatial
correlations in sensor
activations. Assess the most
probable estimate among
many possible ones.
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Updating Importance Weights

P wave front

Likelihood

f(Amax| i, o) =
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Swave front

A

Estimated
epicenter

4= Log(mean noise)

£2=10;0 (A spaes) = 0.72Mp-1.2l0g, R -5x10°*R +5x10°D-0.46

£=100,0 (A, pecea) = 0.87Ms- log; R -1.9x10°R +5.0x10°D-0.98
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